CLASS XI MATHS ASSIGNMENT Continuation....

Chapter 11. STRAIGHT LINES

FAMILIES OF LINES

e Equation of the family member which passes through the intersection of the lines l; and I, is |y + kl, = 0.
Where is the parameter which can be calculated by applying the condition.

e Any line which is parallel to the line ax + by + ¢ = 0 is ax + by + k = 0. Where is the parameter which can
be calculated by applying the condition.

e Any line which is perpendicular to the line ax + by + ¢ = 0 is bx — ay + k = 0. Where is the parameter
which can be calculated by applying the condition.

Exercise 11.8
2. Equation of the required line 4x — 3y + 7+ k(2x + 3y +5) =0
Since the line passes through the point (-4, 5)
24X —-4—-3%xX54+7+k(2X—-4+4+3%x54+5)=0
=2-244+12k=0 =2k=2
Required line, 4x —3y+7+22x+3y+5)=0
=>8x+3y+17=0
8.Given 2+k)x+(1+k)y=5+7k

=22x+y—-5+k(x+y—-7)=0
= the line passes through a fixed point for different values of k.

The point of intersection is (-2 , 9)



